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TEST NUMBER ONE FOR MTH102 SPRINGO007
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QUESTION 2. (10 points) Find the equatwn of the ta'nqent line to the curve "‘[_}' =
of f(z) = 4
Ve+3 +5 at z= 1. ’
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QUESTION a (14 points) Find the first derivative of f(z) (DO NOT SIM-
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QUESTION 4. (20 points) Let [f(e) = 2 = 425 + 2 }on the interval [-1, 4]
(1) Where does f(z). indrease on the given interval? Where does f(x) decrease
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(2) Find Local Max. and L&cal Min. values of f(z) on the given interval.
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(8) Find the absolute «w and the absolute min of f(z) on thé given interval. o
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QUESTION 5. (16 points) et f(x) = Bz°+3

1) Find the Horizontal asymptote of f(z)

—222+48

2) Find the Vertical asymptotes of f(z , f\umefdbf ”-*O
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3) Sketch f(z).
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QUESTION 6. (20 points) Let Y_'L =z° -2+ 100; be the mﬁj@c:_tj_g_ﬁ on

selling x_units. Prex
(1) What is the marginal profit Ezmctwn? What is the gro@t when :c = 10? ——e
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(2) <Find the mgminngzmﬂi&@he when x = 10. P‘ ( 70) ?
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(3) Use (1).and (2 to approzimate the total profit whe m
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(4) Find the Marginal Average Profit Punction. Then find the Marginal Average .
Profit when & = 10. P(*) ? 5'(10\7 \mx"‘=-\m><”'
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